/DVIRB

3RPLHV]F]HQLH SRINiDG 7\J
7N 7N 7\6] 7N
= VSyiFTHVQH QXUIN Z RSLHFH L = VSyiFTHVQH QXUIN Z RSLHFH L = VSyiFTHVQH QXUIN Z RSLHFH L
UHVRFIDLIDFIL Z SURI QDG]Z . DIHID UHVRFIDL]DFIL Z SURI QDG]Z . DIHID UHVRFIDL]DFIL Z  SURI QDG]Z . DIHID 3RGVIDZ\ SUDF\

obuiQ = 2330 32=5:

obuiQ = 2330 32=5:

obuiQ = 2330 32=5:

7\

3URILDNIND Z SUDF\ RSLHNXE
Z\FKRZDZ | UHVRFIDL]DF\IQHI Z SURI

7\J

3URILDNIND Z SUDF\ RSLHNXE
Z\FKRZDZ | UHVRFIDI]DF\IQHI GZ SURI

7\J

3URILDNIND Z SUDF\ RSLHNXE
Z\FKRZDZ | UHVRFIDI]DF\IQHI GZ SURI

VRFIRIHUDSHXINF]QHI Z
GU &]JHUZ ORQIND =
33/ 325:

N JDICFD P

% QDG]Z .DIHID ODUILQ = =33/ QDG]Z . DHID ODUILQ = =33/ QDG]Z -DHID ODUILQ = =33/
5 325 - 325 & 325 &
=
o 7N 7N 7\G]
5 2VRED ] QIHSHiQRVSUDZQRGFlg Z 2VRED ] QIHSHiQRVSUDZQRGFlg Z 2VRED ] QIHSHiQRVSUDZQRGFlg Z
g VAVIHPIH UHVRFIDI]DFIL iZ  SURI QDG]Z VAVIHPIH UHVRFIDI]DFIL iZ  SURI QDG]Z VAVIHPIH UHVRFIDI]DFIL iZ  SURI QDG]Z
) - DIHID ODUIQ = 330 53. - DIHID ODUIQ = 330 53. - DIHID ODUIQ = 330 53.
& & &
7\G]
7HRUHINF]QH SRGVIDZ\
Z\FKRZDQID Z Gl
3IDVHFND ODJRUIDID =
=DICFLD
7N 7N 7N 7N\
3UDFD ] RVREDPL 3UDFD ] RVREDPL )JIRIHUDSID RIYIQD iZ GU Q PHG (HPHQIN VRFIRIHUDSLL GZ GU &]HIZ
X]DIHTQIRQ\PL Z GU X]DIHTQIRQ\PL (Z GU §Z13INRZVND )1V %HDID = =3) ORQIND = 330 53.&
=DICFND %HDID = =DICFND %HDID = &
- 330 53.: 330 53.& 7N\
T N IDICAD P N IDICAD P = \FKRZDQIH SUJH] VSRUI iiZ GU &]HUZ ORQIND :
4 330 53.&
N ™N ™N = N\J IDIGFD GR
3HGDJRJIIND 3HGDJIRJIIND
SHQUHQFIDUQD Z GU SHQUHQFIDUQD FZ GU
=DICFND %HDID = =DICFND %HDID =
330 32=5: 330 32=5&
2N IDICFD  PLQ 2N IDICFD  PLQ
7N 7N 7N 7N 7\
3HGDJIRJIIND 3HGDJIRJIIND *IDJQRID
SRUyZQDZF]D iz GU SRUyZQDZF]D iz GU 6HPLQDUXP G\SIRPRZH ||[UHVRFIDIJDF\IQD Z PJU 6HPLQDUXP G\SIRPRZH
=DIDV . DIDUJ\QD = =DIDV .DIDUJ\QD = GU /DQJIHU &HF\ID = 3\GD 3DZH; = -3 GU %DQDVIDN $QQD =
A 330 32=5& 330 32=5& =33/ (@@= :|||37 32:5 H GHPIQDUXP GID
a N JDICAD P VHPHVIUX
& 7\
I 3RGVIDZ\ SUDZQH 7N
UHVRFIDLIDFIL Z GU -
=DICFND %HDID = DIQRID 0D
233/ 3peg - UHVRFIDIIDF\IQD iz PJU
- e 3\GD 3DZH: = -3
N JDICAD P 3/ 32=5&
2N IDICFD  PLQ
> 7N 7N
L 3DIRIRJIH VSRIHF]QH iZ OHIRG\ND UHVRFIDIL] DFiL
a GU = RTQIDN .UDNRZIDQ Z PJU3\GD 3DZHi =
N $IDID = =33/ =33/ 32=5
n 32=5¢& z

2N IDICFD  PLQ

2N IDICFD  PLQ




/DVIRB

3RPLHV]F]HQLH 5RINiDG

7\J

7\J

3DIRRJIH VSRIHF]QH Z

GU = RTQIDN - UDNRZLDQ

$IDID = =33/
32=5 -

7\J

6SHFIDIQH SRIVJHEN
HGXNDF\IQH XF]QlyZ PHIl
SURIG]D: Gz PJIU
-UDNRZVND OD:JRU]DID

- =33/

7\J

6SHFIDIQH SRIVJHEN
HGXNDF\IQH XF]QlyZ PHIl
SIRIG]ID: Z PJU
-UDNRZVND OD:JRU]DID

- =33/

32=5 ¢

OHIRG\ND UHVRFIDIL]DFIL
UZ PJU3\GD 3DZHi =

7\J

233/ 32=5

=z ISFD SRQIHG]LDHN 305 & ) N JDICAD P
L ]DICFLD IDN Z F]ZDUIHN = N JDICAD P IISFD SRQIHG]LD{HN
a2 ILSFD SRQLIHG]LDiHN JDICFLD IDN Z F]ZDUIHN
N 1DICFID IDN Z F]ZDUHN = 7\
— N IDICFD  PLQ
v OHIRG\ND UHVRFIDIL] DFiL
1Z PJU3\GD 3DZH: =
=33/ 32=5
&
=N ]DICFID
PlQ USFD SRQIHG]LDiHN
JDICFLD IDN Z F]ZDUIHN
7\G]
ﬁ GU 6DUQDI &LDVINR $GUDQQD =
6]NRIHQLH
7\G] 7\G] 7\G] 7\
3URIUDNINND Z SUDF\ RSIHNXE 3URILDNINND Z SUDF\ RSIHNXE 3URIUDNINND Z SUDF\ RSIHNXE *LDIQRVINND SHGDJRJLF]QD 1Z GU
Z\FKRZDZ L UHVRFIDILJDF\IQHI Z SURI Z\FKRZDZ L UHVRFIDI]DF\IQHI GiZ SURI Z\FKRZDZ | UHVRFIDI]DF\IQHI GiZ SURI &]HUZ ORQIND = =335
QDG]Z .DIHID ODUIQ = :335 QDG]Z - DIHID ODUILQ = =335 QDG]Z - DHID ODUILQ = =335 32=5&
325 : 325 & 325 &
[a)
= 7N 7N 7\
L 3HGDJRJIIND SHQUHQFIDUIQD Z GU 3HGDJRJIND SHQUHQFIDUIQD FZ GU 3RGVIDZ\ SUDZQH UHVRFIDIL]DFIL Z GU
§ =DICFND %HDID = =336 =DICFND %HDID = =336 =DICFND %HDID = 2335
32=5 = 32=5& 32=5 :
7\ 7N\
3HGDJRJIND F]DVX ZRIQHIR Z GU 3HGDJIRJIND F]DVX ZRIQHIR (Z GU
&]HUZ ORQIND = =336 &]HUZ ORQIND = =336
326 : 326 &
7\G]
3RG\SIRPRZH (3Lz
7N 7N 7N
3URILDNINND Z SUDF\ RSIHNXE 3URILDNINND Z SUDF\ RSIHNXE 3URILDNINND Z SUDF\ RSIHNXE
a Z\FKRZDZ L UHVRFIDIJDFNIQHI Z SURI Z\FKRZDZ | UHVRFIDI]DF\IQHI GZ SURI Z\FKRZDZ | UHVRFIDI]DF\IQHI GZ SURI
= QDG]Z -DIHID ODUILQ = -335 QDG]Z .DIHID ODUIQ = 2335 QDG]Z .DIHID ODUIQ = 2335
= 325 = 325& 325 &
)
T 7\G] 7\G] 7\G]
(o7

3UREIHP\ G]IHFL ] URG]LQ
G\VIXQNFIRQDIQ\FK Z “SURI QDG]Z - DIHI

3UREHP\ G]IHFL ] URG]LQ
G\VIXQNFIRQDIQ\FK Z “SURI QDG]Z - DIHI

3UREHP\ G]IHFL ] URG]LQ
G\VIXQNFIRQDIQ\FK Z “SURI QDG]Z - DIHI

325 :

325 &

D ODULQ = 336 326 : D ODUIQ = 336 326 : D ODUIQ = 336 326 :
7\6] 7\6] 7\6]
SHDGDSIDFID VSRHF]QD Z  SURI QDG]Z SHDGDSIDFID VSRHF]QD 4Z  SURI QDG] SHDGDSIDFID VSRHF]QD UZ  SURI QDG]
-DIHID ODUILQ = 335 Z _DIHID ODUIlQ = -335 Z _DIHID ODUIlQ = -335

325 &




/DIRB
3RPLHV]F]HQLH 5RINiDG

7\J

QLHG]LHOD

7\6]

= VSyiFTHVQH QXUIN Z RSLHFH L
UHVRFIDL]DFIL Z SURI QDG]Z . DIHID

oDl -

2336 32=5:

7\6]

= VSyiFTHVQH QXUIN Z RSLHFH L
UHVRFIDL]DFIL Z  SURI QDG]Z . DIHID

oDl -

2336

32=5 -

7\6]

= VSyiFTHVQH QXUIN Z RSLHFH L

UHVRFIDIL]
oDl -

DFIL Z SURI QDG]Z .DIHID
2336 32=5:

7\6]

7HRUHINF]QH
SRGVIDZ\
Z\FKRZDQLD

Z Gl 3IDVHFND
OD:IJRUIDID =

QIoPWQ
7HRUHINFTQH
SRGVIDZ\

Z\FKRZDQLD




